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Day 7 = Comparing Linear Functions — Notes

Linear Functions can come in many forms:
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Now that you have studied linear functions and their characteristics for over two weeks, you need to be able to
compare and answer questions in whatever form is given to you. The best way to develop your comparing skills
is just to practice; there is not actual lesson —just practice problems for you to fry.

Practice 1: Which function has the biggest y-intercept?

Function A: Function B: Function C:
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Practice 2: Which function has the greatest rate of change?
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Practice 3; Two airplanes are in flight. The function f(x} = 400x + 1200 represents the allitude, f(x), of Plane 1 after
Xxminutes. The graph below represents the altitude of the second dirplane.
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Compare the rate of change of the two planes.
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Practice 4: Your employer has offered two pay scales for you to choose from. The first option is to receive a

ase salary of $250 a week plus 15% of the price of any merchandise you sell. The second option is represented
the graph below.
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c. Which option has a higher base salary?2 Explain how you know.

Opfion \ hoo aJUca*’w bo.mgm&c\rﬂ (250 7 200)

.. Which option has a higher rate for seling merchandise2 Explain how you know.
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